= O
H = 0l &F AF 2 Z Al A
SA =ME )
M HDISNESSNA2S(BALS/HIE)
Chel: HO|2R2lLH2IAIE HX (crel M
o _ _ SIEN
SM-BH-H2A(FAH) - MIRAY - BES Ol & 'oﬂ/'\_WH Hns2
= A EHA ) 69,097,537 53,171,105 15,926,432
= 39,385,027
2 11,408,000
[ 18,304,510

HOISX =SS (HILS/HDIS) 36,045,275 19,667,575 16,377,700
= 33,271,700
& 2,773,575

HolS22lL He Al &X 36,045,275 12,786,575 23,258,700
= 33,271,700
[ 2,773,575

ME TR 5] 4 HIE| B E 3,204,000 473,000 2,731,000
= 2,604,000
[ 600,000

403 XHXI SHH S KH2 0| & 3,204,000 473,000 2,731,000
= 2,604,000
[ 600,000

01 XIXISHHR 2L X 3,204,000 473,000 2,731,000
BENGCEERIEEE 3,204,000
= 2,604,000
[ 600,000

HIS A OF &) Al & R Ul AP 3,512,000 4,000,000 488,000
= 2,912,000
[ 600,000

403 THXI SHH S KH=2 0| & 3,512,000 4,000,000 488,000
= 2,912,000
[ 600,000

01 ISR =R X 3,512,000 4,000,000 488,000
CIHI S| A DRI Al & & b 3,512,000
= 2,912,000
[ 600,000

SASHIISZTRHIAL 2,500,000 0 2,500,000
= 2,300,000
[ 200,000

403 HXI SHH S KHE 0| & 2,500,000 0 2,500,000
= 2,300,000
[ 200,000

01 HXISH =R X 2,500,000 0 2,500,000
OSASME I M2 AL &R 2,500,000
= 2,300,000
[ 200,000

SOIEHIISSE X2 Al M XA 1,100,000 2,100,000 A 1,000,000
= 900,000
[ 200,000

403 XHXI S S KH=2 0| & 1,100,000 2,100,000 A 1,000,000
= 900,000
[ 200,000

|
—
|




SA: SMEAD
M MIDIEI}%ﬁé HAR=S(BFES/HIIE)
Chel: HIIS22 L™l AlE A X

_ _ SIEN
SN EB -GS - MBAY - BES 01l &+ o il ot o {imE=Eh
01 RIXSH =L 1,100,000 2,100,000 1,000,000
BEICES BIEE--S EIPNFEREBY 1,100,000
= 900,000
= 200,000
Hs%8IR4+TBAELBN 2 150,000 150,000 0
307 212H01 & 150,000 150,000 0
02 pIZHH AR X 150,000 150,000 0
OHSAEIR4+TYB2H2E2 N 150,000
0 ] PSETONPEPED (PR 4,077,000 2,500,000 1,577,000
= 3,577,000
= 500,000
403 Xt XI A S XH2 0| & 4,077,000 2,500,000 1,577,000
= 3,577,000
= 500,000
01 IXSHIZE S 4,077,000 2,500,000 1,577,000
DM ] A2 A& & X 4,077,000
= 3,577,000
= 500,000
HEEELTBASX 200,000 200,000 0
308 X+ XI &I S 01 & 200,000 200,000 0
01 HXSHBABES 200,000 200,000 0
OMEEE+E242X8 200,000
SEUANCIREHYLLTZ LSS 300,000 300,000 0
308 X+ XI A S 01 & 300,000 300,000 0
01 X SHBAEES 300,000 300,000 0
BEEID IR TR PN =S (] 300,000
HIIEHESLSASH XL 23,575 33,575 10,000
201 Yer2 Y| 14,000 14,000 0
01 At 22t 12,000 12,000 0
mEEIER=%] 9,000
OSHASURE AR 9,000
mEp] 3,000
OBBARHTAILAS XIS YR 3,000
02 TS| 2,000 2,000 0
O2=Q2LHA 2,000
OB=2HII2E 3l bl 2,000
202 01| 4,000 4,000 0
01 2048l 4,000 4,000 0
OHIISHESLSASMY DMl P22 01| 4,000
203 Y2 FAY| 5,000 5,000 0




SA: SMEAD
M MIDIEI}%ﬁé HAR=S(BFES/HIIE)
Chel: HIIS22 L™l AlE A X

SN (B) - MBEAY - B2 0l aF ol Soe HRZ2

03 Al HF=XIH =AY 5,000 5,000 0
OMHIIZSFSIAIE =& 5,000

303 A= 575 575 0

01 L&z 575 575 0
OHIISEXH2 RSS2 A& 575

SFMY I A2ZAIE A XA 20,600,000 3,000,000 17,600,000
= 20,600,000

403 XXM S K201 A 20,600,000 3,000,000 17,600,000
= 20,600,000

01 AXEHA=Z2EER 20,600,000 3,000,000 17,600,000
OF3FMH IO A2 AL A X 20,600,000
= 20,600,000

SZEHHIYESHEAZ(XH) 378,700 0 378,700
= 378,700

308 KX SISOl A 378,700 0 378,700
= 378,700

01 AXIEMBAEEZ 378,700 0 378,700
SEHHIE=HEAZ 378,700
= 378,700

UNHNSSAIL(FHAES/UDI) 6,442,572 4,828, 140 1,614,432
= 4,204,327
& 2,238,245

NS HSoHSALS 1,913,125 2,137,750 N224,625
= 1,253,750
= 659,375

HMAINAXNSIE 2 1,060,875 1,850,750 789,875
= 707,250
= 353,625

403 XXM SA20| A 1,060,875 1,800,750 NT739,875
= 707,250
= 353,625

01 AEXIEHHI X2 2 & 1,060,875 1,800,750 NT739,875
OFAINAKNSIES 1,060,875
= 707,250
= 353,625

HANAXNSIHASH XA 371,250 285,000 86,250
= 247,500
= 123,750

308 XtXI SISOl A 371,250 285,000 86,250
= 247,500
& 123,750

01 IXIEHIBAEXZ 371,250 285,000 86,250
O&ANAKSXAHAZHI XA 371,250
= 247,500




SN mMEA D)
HE: QDN BEL(BBBS/N])
Sl XIS XK Dol ALY (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
| < 123,750
RS XK B o 8 =7 2l 2,000 2,000 0
202 04t 2,000 2,000 0
01 2UH0i b 2,000 2,000 0
XS XM 261312 )1 5 8 31 AIR 01 ] 2,000
MINSHESLEHOI Do} RE 479,000 0 479,000
= 299,000
= 180,000
403 KX EHH S 20| & 479,000 0 479,000
= 299,000
= 180,000
0Of MHXISH K22 E 479,000 0 479,000
ORINSRHES 360,000
= 180,000
= 180,000
ORIINSHERA LA RSN 119,000
= 119,000
CE =] 1,336,947 1,157,390 179,557
= 881,577
& 455,370
HISHYE S 30,000 105,000 A75,000
= 20,000
= 10,000
403 XHXI SRS XH2 0l & 30,000 105,000 A75,000
= 20,000
= 10,000
01 XFXISHRIXH2 2 X 30,000 105,000 A75,000
OHIIS= T =S 30,000
= 20,000
= 10,000
BHERASRULT 43D 30,000 30,000 0
308 X+XI €+ HISO0I& 30,000 30,000 0
02 H4+DES 30,000 30,000 0
OHIIES S +023 30,000
Il e e X 20,000 20,000 0
307 21201 & 20,000 20,000 0
02 Bl AR E 20,000 20,000 0
oI 22 X8 20,000
S ERALAXISHIIH S ALY 202,800 172,800 30,000
= 169,000
= 33,800
403 X+ X SRS KH 0] & 202,800 172,800 30,000
=2 169,000




SN =M EA DL
A GOHNSEHIXY(BEES/UII)
el 2y 2 EEEEE]
S BB SR (B) - NEAY - BAS 0f & o Soe DB
S 33,800
01 HXIHH U= EE 202,800 172,800 30,000
OMsSAHUEX(SAIISUIISZHNA) 202,800
= 169,000
& 33,800
=SEAZAMAHTRE 262,347 380,450 A 118,103
2 209,877
= 52,470
403 XXM S =01 262,347 380,450 A 118,103
2 209,877
S 52,470
01 A XSHHX=E X 262,347 380,450 A 118,103
D2ENSESHIIILSNLZc2elH SN2 262,347
= 209,877
< 52,470
SdIOIEXMel K& 717,300 379,140 338,160
=2 478,200
= 239,100
403 TXIHMSA201H 717,300 379,140 338,160
= 478,200
= 239,100
01 AXSHHX2E X 717,300 379,140 338,160
OO=d0E™Ml X 717,300
= 478,200
= 239,100
HEgAKE - 24 62,000 62,000 0
201 YEr2gy| 23,000 23,000 0
01 AtR2telH 11,600 11,600 0
Oget ==l 2,000
OiEAHEEEFRU(LE, HES) 2,000
O x=z 9,600
(@i =g E~PNI==FS EEDNA= 32 PN, 9,600
02 =523 11,400 11,400 0
OXtE - dety] 11,400
Oxg==U 9,600
oxgsdz 1,800
202 O4H| 15,000 15,000 0
01 =LHAOHI 15,000 15,000 0
O EE AN =& A 0 15,000
203 R =X Y| 15,000 15,000 0
03 Al FA AR 15,000 15,000 0
Oetdoigag g = 15,000
301 YerR A 9,000 9,000 0




M =AEA N
I NS ATL(S#EES/UII)
ool SEgsdael EEEEE]
. MEc
A -3 -H2A(SH) - HEAMY - BES O AFH ‘Oﬂ/i\_Fo” Hos
10 $ALAIHIE A2 3,000 3,000 0
OIS HALAUE/AIZ A H AR AHIE4
50, 000& *30H »23] 3,000
12 JIEtE 43 6,000 6,000 0
OetBegan=s8aszg 200,000 =10 2,000
(IR0l sHEE 4= 50,000 x8H +102] 4,000
CHOIBHSAIE IR SR X 2l 8,000 8,000 0
202 G4l 8,000 8,000 0
01 2 odHI 8,000 8,000 0
CICHOIHHEAIE I RS S =X 0 H 8,000
QRIS B LA S 4,500 0 4,500
= 4,500
307 2I2+0I M 4,500 0 4,500
= 4,500
02 QItF &8 xR 4,500 0 4,500
OeizttsstZZAdasId 4,500
= 4,500
= EAUES 3,149,500 1,495,000 1,654,500
= 2,069,000
, = 1,080,500
JIZ=HSIHE MY 2,820,000 1,225,000 1,595,000
= 1,880,000
= 940,000
308 KX SHHMSOIA 675,000 525,000 150,000
= 450,000
< 225,000
01 IXSHHBMNEXES 675,000 525,000 150,000
D=l SSe 28 75,000
= 50,000
[ 25,000
OEtAZQENEZY 600,000
= 400,000
< 200,000
403 KX SHHIS AH20] & 2,145,000 300,000 1,845,000
= 1,430,000
[ 715,000
01 AXHHMA=2EE 2,145,000 300,000 1,845,000
CDOI=HSHHEI DALY =& 2,145,000
= 1,430,000
== 715,000
JelAEERsE4s Y OelelHE s 329,500 270,000 59,500
= 189,000
< 140,500
201 Et2dd| 30,000 30,000 0




SN =SMEH Y
A ADHNSBAEXL(BHFBS/HDI)
SRl I SHSESHS (9 &e
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
= 15,000
= 15,000
01 At 2l 30,000 30,000 0
Dstg| 30,000
ONBIAEEMRES 30,000
= 15,000
= 15,000
307 @120l & 154,000 120,000 34,000
= 77,000
[ 77,000
02 QItAAEE 154,000 120,000 34,000
DI HYELARS =X 120,000
= 60,000
= 60,000
DISHADSHESY () 34,000
= 17,000
= 17,000
308 XHXISHH SO & 145,500 120,000 25,500
= 97,000
= 48,500
01 X SHBABED 145,500 120,000 25,500
DOBABEAMER ALK 120,000
= 80,000
< 40,000
(DISHARSHUESY(AR) 25,500
= 17,000
= 8,500
S CIT B 2 AL 43,000 38,000 5,000
SO P M 201X 2 43,000 38,000 5,000
308 XHXISHH SO & 43,000 38,000 5,000
01 ISR ES 43,000 38,000 5,000
DA HS 02 43,000
NolsZEw - pelLsH(BP2S/X) 19,695, 100 22,408,900 ~2,713,800
= 1,619,000
o 11,408,000
= 6,668, 100
RO ME B E A 15,744,400 20, 187,000 A4, 442 600
= 700,000
2 11,408,000
= 3,636,400
=D E e 910,000 1,040,000 130,000
= 700,000
= 210,000
403 X+ X A S K= 0| & 910,000 1,040,000 130,000
= 700,000




SN =MD

Y NASFEEN - 2|2 (EEES/KH)

CHol: RIOIMERREA (el m
SN HB SR (BIH) - A - B S 0l &b S D=2
BN B O - HSAY - B2 Sh Of] &F o8 e

= 210,000

01 RtXISM 2L X 910,000 1,040,000 A 130,000
O=JtdEHEL 24 910,000
= 700,000
L= 210,000

NHEIEHOIZEAL 14,830,400 18,993,000 A4,162,600
& 11,408,000
& 3,422,400

403 XX SHHMS =0l & 14,830,400 18,993,000 A4,162,600
& 11,408,000
= 3,422,400

01 AXIEHA2 2L 14,830,400 18,993,000 A4,162,600
OZSHEXN+=HUEHSA LY 195,000
= 150,000
L= 45,000
OZ=sdcdmaxyd 130,000
= 100,000
= 30,000
Oz sZ s xd 390,000
= 300,000
= 90,000
A SHLEURZ2 XL 845,000
& 650,000
= 195,000
OotssxZJAXTH 234,000
& 180,000
= 54,000
OotsHSMETII XA 260,000
& 200,000
& 60,000
OF0ISAMEIBRATY 1,170,000
= 900,000
& 270,000
OFROIX AT S A S 260,000
= 200,000
& 60,000
OF0IS8XNNAMB S L 1,345,500
= 1,035,000
L= 310,500
OF0IZEXNNAMB SRS 260,000
= 200,000
= 60,000
Oa=SSZMEBMEMEES 1,300,000
= 1,000,000
= 300,000
OaHSsZdH S ggExy 1,040,000
= 800,000
= 240,000
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SN =M E D
M NS F LA - B2lLH(BHLS/N)
Sel MEOYLoRH (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES O AF o8 il b o bRz
DU SYMSTH 224 H S ET LR A 90,000
MBI E B2 H LAY 32,500 32,500 0
2 15,000
= 17,500
403 XEXIEHHI S XH= 0| ® 32,500 32,500 0
2 15,000
= 17,500
01 KX EHRIXH2 2 & 32,500 32,500 0
(M SCHA 22| A Y 32,500
2 15,000
= 7,500
MESTARTA L 750,000 0 750,000
2 500,000
= 250,000
403 XHXISHHI S XH= 0| ® 750,000 0 750,000
2 500,000
= 250,000
01 KX EHRIXH2 2 % 750,000 0 750,000
OMSXeSHAIL S X 750,000
2 500,000
= 250,000
OMENSES 722,200 653,400 68,800
2 404,000
= 318,200
OIMEASE YRR 525,200 456,300 68,900
2 404,000
= 121,200
403 XHXIEHHI S XH= 0| & 525,200 456,300 68,900
2 404,000
= 121,200
01 REXIEHRIXH2 2 % 525,200 456,300 68,900
[JOFA = S 11 81 0 2 A2 525,200
2 404,000
= 121,200
ENEEE 197,000 197,100 A100
301 B A3 2,000 1,500 500
12 JIEtR &2 2,000 1,500 500
OYEADTEAS 2,000
308 X+XI €M S 01 & 195,000 195,600 A600
01 XS HALBES 195,000 195,600 600
(O SSTHsHSE 43 79,000
mOENEES 116,000
ANEAPUEN L (HBYRS/BBBS U 6,670,290 6,028,290 642,000
2 290,000
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M. MY Mo (S ES/SHES L
S SOISFOIEN CEE:E
- _ _ HE T =
2N -3 - c2(3H) - NEME - HES Ol &F2H Oll AF O Hns
= 6,380,290
COoISAOIIERMD 6,670,290 6,028,290 642,000
= 290,000
= 6,380,290
AS=sMSAT AL XS (2R E X ) 300,000 200,000 100,000
307 21201 & 300,000 200,000 100,000
02 DIt ZAE X 300,000 200,000 100,000
OF=S=sMSt AT 2AME X 300,000
SHAEMIMNC=Y 16,500 16,500 0
201 82| 10,000 10,000 0
01 At 22l bl 10,000 10,000 0
0294 10,000
OS2I FAAI 2+ 10,000
202 04d| 6,500 6,500 0
01 2 A 6,500 6,500 0
OStZ2HTH M EAIA S X = AFH HI 6,500
sMAS2FEE S KA 201,500 151,500 50,000
202 04d| 1,500 1,500 0
01 2LHo bl 1,500 1,500 0
O=MA=21FXEAGLRFTAHI 1,500
307 Q1201 & 200,000 150,000 50,000
02 QIZHFAE X 200,000 150,000 50,000
O=sMAS2IZ=XEF X 200,000
SR P == PSECIME 3,151,000 2,701,000 450,000
202 04d| 1,000 1,000 0
01 2L b 1,000 1,000 0
OstZ e RS2+ 2FE 0 1,000
308 KX A SOIA 3,150,000 2,700,000 450,000
02 dxng3 3,150,000 2,700,000 450,000
OstZERE=2duE3 3,150,000
DS Z LAl 11,690 11,690 0
202 44| 1,000 1,000 0
01 2LHH bl 1,000 1,000 0
O3S AMAATRFZX0 L 1,000
303 LAS 10,690 10,690 0
01 Za2 10,690 10,690 0
OZ3=SZAAMES 10,690
F S A2t 21,000 0 21,000
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OUBHNLE AP 3,000
mEET 18,200
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202 04t 50,900 53,000 A2,100
01 2L 01 b 50,900 53,000 A2,100
BEEET-EEES ST 50,900
203 YR =TY| 30,600 30,600 0
NEEEEEEESN 6,600 6,600 0
0=2% 6,600
04 EHSYAREY| 24,000 24,000 0
(130201 &t 350,0002 *5 74 = A 122 21,000
(1152015t 250,0002 14 = K 122 3,000
204 X 243 H| 36,600 36,600 0
01 HEZ AR 36,600 36,600 0
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